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Answer key 

Comprehension 2 

1 i) students and teachers (of the writer’s school) 

 ii) Plastic surgery is harmful to society 

 iii) She is for the motion. 

2 chief 

3 i) the media/magazines, films and TV 

 ii) Their lives would be better. (any reasonable answer) 

4 It should encourage diverse forms of beauty. (any reasonable answer) 

5 B 

6 multitudinous patients have died needlessly 

7 B 

8 It causes a lot of damage to the body. (any reasonable answer) 

9 having plastic surgery 

10 (i) regretted 

 (ii) expected 

11 i) They do not like how fake they look. (any reasonable answer) 

 ii) They no longer recognize themselves (in the mirror). (any reasonable answer) 

12 i) C 

 ii) D 

 iii) A 

 iv) B 

13 i) We should 

 ii) I think the writer repeated this phrase to emphasize what she thinks is right and to 

make her speech more memorable. (any reasonable answer) 

14 i) inevitably 

 ii) proponents 

 iii) subjectivity 

 iv) drawback 

 v) vanity 

 


